‘o\o\em........
LN Q

Q
. Solving

https://www.nhshighland.scot.nhs.uk/Services/Pages/ChronicPainManagement.aspx

Chronic Pain Management - NHS Highland

Persistent Pain has a considerable impact on the quality of life for many people
in Scotland. Approximately 800,000 people across Scotland are affected by
persistent pain to varying degrees, and it can result in significant suffering for
both those directly affected and those close to them.
www.nhshighland.scot.nhs.uk
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Obstacles to making lifestyle changes: ~ ........... 3
Problem Solving Example ... 4
Now yourTurn 5

Think of yowr own problems and work
Hhrough wsing same methodl. .

Possible Solution

-Advantages

-Disadvantages

Another Possible Solution

-Advantages

-Disadvantages

Another Possible Solution

-Advantages

-Disadvantages

Which one would yow choose?
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Thnk of your own problems and work Ed Obstacles to making lifestyle changes...:

through wsing same metirod. .

Possible Solution

-Advanta ges iy

yrrinrynars it

-Disadvantages
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Another Possible Solution

-Advantages
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Have you had some
thoughts about the lifestyle
changes that you would
like to make? e.g. become
more active, socialise more,
Another Possible Solution improve mood, lose weight,
walk more, meet with
-Advantages friends, do a hobbies more...

-Disadvantages

©)
o
(%)
—+
Y
@),
™
(%]
=
o
5
o
=,
=]
Q
=
(%]
~
=
™
o)
>
o
S
Q
)
(%]

~Disadvantages Think of something small that you have been struggling with.

Which one wouwld you choose? get in the way of doing His?
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Ed Problem Solving Example:

Our example -

My whole fomidy come to me for Sunday
lunclhh and I'm struggling afterwords with

What are the options?

: ible solution - . ;
11. One ’pOSSla ers 2 ?t'?,Othef Possible solution -
~ pon'tBothe ill do it byt Provide 5

o Advantages -
save money, less pain * Advantages -
You k.eep in touch, less "
vv.ashmg UP, no preparatiop, -
° Dlsadvantages - |

If'might fike 5 take

e Disadvantages -
you lose touch with them, -

they stop asking }Iou to
join them, more
lonely, depressed.

solated, Not 3
away.

F.B' Another po?jﬁe solution-
Get everyone to bring
Something

Which solution would you
pick?

“® Advantages -You keep in
touch, less Preparation,

work shared
around Are there other options that

* Disadvantages - | oss of could be considered?
control, people might not

all be able to contribute

Thunk of yowr own problems and work
Hhwrough wsing same problem solving metiod
at home . .

Possible Solution

-Advantages

-Disadvantages

Another Possible Solution

-Advantages

-Disadvantages

Another Possible Solution

-Advantages

-Disadvantages

Which ove would you choose?
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P'm struggling to pace myself and on good Ed Now yourturn

doys owerdo things and wmake myself sove

a.ft&erd«s . ....work through these examples to problem solve through these.
I’'m losing touch with my friemds as I'm
struggling to go on a night out due to pain . .

-Advantages Possible Solution

Possible Solution

. -Advantages
-Disadvantages

-Disadvantages

Another Possible Solution

-Advantages Another Possible Solution
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-Advantages
-Disadvantages

=z
Qo
S
<
o
c
=
[y
(=
=
=}

-Disadvantages

Another Possible Solution

Another Possible Solution

-Advantages

-Advantages

-Disadvantages

-Disadvantages

Which ove wowld you choose?
Which ove wouwld yow choose?




'm finding it difficudt to find tume fo practice | don't have tHie motwation fo nerease my

relayotion and nwot be interrupted . . actwity levels . .
Possible Solution Possible Solution
-Advantages -Advantages
-Disadvantages -Disadvantages
Another Possible Solution Another Possible Solution
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Another Possible Solution Another Possible Solution
- Advantages -Advantages
-Disadvantages -Disadvantages

Which one would yow choose? Which one would yow choose?




